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-Y &S| 1,380,000& = 23| x 1H 2,760
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Al 966

-Ex4 80,000 = 1 « 12&€ 960
J| 480

< 144

Al 336

-G 145,000 = 128 ~ 1H 1,740
J| 870

[ 261

Al 609

-AJ|B24A0H3 115,000€ * 13 = 1™ 115
J| 57

o= 17
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SN AASTDY
M. H¥M2AAH (ALSE )
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 26,213 27,580 AN 1,367
OJSMNEEE 2l 23,413
-T2 E E 2|
192,940 = 304 = 128 6,946
-SAMEX 7L 17,6103 » 202 A * 128 4,227
-SA| Xz 260,000 = 128 * 204 6,240
-t AIRESSH ¥ =2 6,000
Oof2t & SAd2 2K 2481 8,000& * 3504 2,800
02 53294l 6,000 5,000 1,000
0232322 % MM3U2(=4H S) 6,000
202 (4] 73,920 75,600 A 1,680
01 2L Y| 73,920 75,600 A 1,680
Ol sSJSYRFA0HI
140,000 449 = 1204 & 73,920
203 2 R =T | 6,060 6,300 240
04 2SI L RF=AH| 6,060 6,300 N 240
ORNMEY gR=&XH| 505,000& = 12& 6,060
204 X2 =2 Z | 1,200 1,200 0
01 XS LRHAH| 1,200 1,200 0
OltE AMg gR48AH 100,000& * 128 1,200
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